## Last time:

Consider a spring mass damper system

The position of the mass is p

@ A force F is applied to the mass M

Free body diagram

Converting into State Space Let

Thus,  

$$x_1 = \beta = x_2$$
  
 $x_2 = \beta = -\frac{k}{m}\beta - \frac{\zeta}{m}\beta + F$ 

$$= \frac{1}{2} \left[ \frac{1}{2}$$

VR= Voltage drop across resistor=iR Vc = Voltage drop across capacità - i= cd/c Vi = voltage drop across inductor Applying Kirchoffs voltage law Vp + Vc + V\_= U -- - (1) VR=iR; cdVc=i; VL=Ldi Lets choose as states Then we get  $\frac{X_1 = dV_C}{dt} = \frac{i}{C} = \frac{X_2}{C}$ From (1) we have ir + Vc + Ldi = u → di=u-vc-iR  $=\frac{U-X_1-X_2R}{1.1}$ 

$$\hat{x} = \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} = \begin{bmatrix} 0 & 1/c \\ -1 & -R \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} + \begin{bmatrix} 0 \\ 1/c \end{bmatrix} u$$

$$y = \begin{bmatrix} 0 & R \end{bmatrix} \begin{bmatrix} x_1 \\ n_2 \end{bmatrix} \cdot y \text{ is the uoltage}$$

$$\text{across the resistor}$$

$$\begin{pmatrix} \dot{x}_1 \\ \dot{x}_2 \end{pmatrix} = \begin{bmatrix} 0 & 1 \\ -1 & -2 \\ 1 & 2 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} + \begin{bmatrix} 0 \\ 1 \\ 1 \end{bmatrix} U$$

Spring-mass-damper System

$$\begin{pmatrix} \dot{X}_1 \\ \dot{X}_2 \end{pmatrix} = \begin{bmatrix} 0 & 1 \\ -k & -c \\ M & M \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \end{bmatrix} + \begin{bmatrix} 0 \\ 1 \\ M \end{bmatrix} F$$

mechanical Stiffness R = 1 where Cisthe apparatance mechanical damping C = R; R is the resultance mechanical mass m= L; the inductance

This provides a mapping between Electral and mechanical systems.

Example: Another choice of state variables.

Note that we have

where VR = iR

Vu= Ldi

Colk = i

We can differentiate (1) to obtain

Looks like a choice for state variables

where we obtain

$$x_1 = \lambda_1$$
;  $x_2 = di$ 

where we obtain

 $x_1 = x_2$  and

 $x_2 = \frac{1}{L} du - i - R di$ 
 $\frac{1}{L} du - \frac{1}{L} - R di$ 

Thus

$$\dot{x} = \begin{bmatrix} \dot{x}_{i} \\ \dot{x}_{i} \end{bmatrix} = \begin{bmatrix} 0 & 1 \\ -\frac{1}{LC} & -\frac{R}{L} \end{bmatrix} \begin{bmatrix} \dot{x}_{i} \\ \dot{x}_{i} \end{bmatrix} + \begin{bmatrix} 0 \\ 1 \\ 1 \end{bmatrix} du$$

$$\dot{y} = \begin{bmatrix} 1 & 0 \end{bmatrix} \times 1$$

Here we have du. not u

The above is not in the form

Consider the Same State Apace Equations with input us and output  $\mathcal{J}$   $\hat{x} = Ax + Bu$   $\hat{y} = Cx = x_1$ 

where 
$$x_2 = \hat{x}_1$$

If the input is u for the above dyptem the output is y=x,

-> As the System is linear if the input is changed to du the output will be dy = dx = x, = x = x

Thus,

x= Ax +8u y= [0 1] [x1] = x2